Problem 1:

2.

Previous Year CBSE Problems with Solutions

Maximise z = 8x + 9y subject to the constraints
givenbelow: 2x+3y<6,3x-2y<6,y<1;x,y=20
(Foreign 2015) (6 Marks)

Solution:

2. Letl :2x+3y=6,,:3x-2y=6,L:y=1;
x=0,y=0

Solving [, & [, we get D (1.5, 1)
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Shaded portion OADCB is the feasible region, where
coordinates of the corner points are O(0, 0), A(0, 1)

D(1.5, 1), c(ﬂ,il,mz,o).
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The value of the objective function at these points
are :

Corner Points | Value of the objective function

z=8x+9y
O (0, 0) 8x0+9%x0=0
A(0,1) Bx0+9x1=9
D(1.5,1) 8x15+9x1=21
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Cl| —,— x—49x—=22.6(Maximum)
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B(2,0) 8x2+9x0=16
The maximum value of z is 22.6, which is at

(2.6
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